CMJIPOXMMUYECKUM COCTAB BOJIbI TTPOJIMBA BBHEPKE3VH]L 3a okrs6ps 2022

3 2 3
® = - = 2 & 2 . -
=3 o ‘E S . 2 5 & E B¢ E
= =3 : = = g
| & | 5|3z (g2 | 2 |:%| 2 |eF|E2| &%
s | & s |£3|25l25] & z =4 £ |8d| 3| 232
: < ; e g g E = - - = O g g E § 3 2 Sz
zZ | g = |2 |g*|EF| E & | & 1 52| £
= = e = & S <3
) ¢ o8 7 s = §
= |8 2 2| 3 = =
< <
Bl 7,5 7.3 1,5 1,859 | <5.0 2110 260 0,650 | 0,008 | 0,0343 0,0158
B2 Q 8.3 7,22 0,8 | 2,002 <5,0 1370 300 0,710 | 0,007 | 0,0298 | 0,0318
B3 c?: 7,4 7,35 1,0 | 1,716 | <5,0 2100 280 0,640 | 0,005 ] 0,0271 0,039
B4 E 7.6 7,20 1,3 | 1,859 ] <5.0 2170 300 0,700 | 0,005 ] 0,0286 | 0.,0215
BS N 7,2 7,12 1,2 | 1,859 | <5.0 1990 300 0,690 | 0,006 | 0,0356] 0,0113
B6 7.3 7,17 1.4 | 1,716 | <5.0 2100 310 0,670 | 0,006 | 0,0304| 0,0135
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B1 7.3 7.9 4,0 | 2,32 ] <5,0 1680 270 0,59 [<0,005| 0,131 <0,005
B2 Q 7.8 7,89 2,5 2,23 | <5,0 1600 260 0,51 [<0,005| 0,101 <0,005
B3 <?1 7.6 7,88 2.3 2,10 | <5,0 1550 240 0,55 |[<0,005| 0,091 <0,005
B4 E 8,2 7.93 5.2 2,04 | <5,0 1650 260 0,6 0,007 | 0,135 0,006
BS - 7,7 7,82 1.9 2,17 | <5,0 1590 240 0,054 | 0,006 | 0,167 0,006
B6 7,2 7,87 2,1 2,2 1<5,0 1380 230 0,105 |[<0,005] 0,08 <0,005
IT'MJAPOXUMHWUYECKUM COCTAB BOJIbl IMPOJIMBA BBEPKE3VHJ]I 3a nekabpsb 2022
§ 3 k-
° |3 : = BT & R p
= | 2|8 |5 |eal B EO| S| 2| S|E.]|
[
| & | 2|z |8g|58| S| 2 |s3| 2 |38z &2
I = = o |22l ck& c = = = 2o © = © X
e = E |5 EIES| = S 5 3 = & Z| o5 =
iy < ] E gk = e - = O = g S £ 9 = S Z
21 E | E | |E%BE|E| = 2| € |TE| 22| £¢
Tl E | |4 Z | & AR AR
=8 ) = & 2 g
~ <«
Bl 2.4 7,03 1,3 1,97 | <5.0 1520 230 0,39 |0,007] 0,012 0,020
B2 Q 2,2 7,12 2,0 2,06 | <5,0 1520 200 0,345 | 0,005 | <0,01 0,017
B3 r?x 2,3 6,99 1,3 2,03 | <5.0 1520 230 0,333 | 0,007 | 0,021 0,012
B4 i‘ 2,0 6,97 1,6 1,91 | <5,0 1510 240 0,349 |<0,005] 0,0125 0,012
B35 = 1,9 6,85 9,2 1,96 | <5.0 1520 230 0,336 | 0,028 | <0,01 0,019
B6 1.8 6,87 5.3 1,92 | <5,0 1510 260 0,338 | 0,007 | 0,0104 0,011




